Algebra 2 Chapter 4 Test — Part 1 - Review
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. 1. Consider the function f(x) = 2x% — 8x + 4 \\ X }
2. What type of graph will this be? Howdo |1 § = r i
you know? [ ] u\ ] bl
Parabola pjc of the X * IAENERNE R TR,

b. - Will the graph open up or down? Justify.

Up 0=2>0 s

¢. Findthe equation of the axis of symmetry. . e
X--U ~-(-%) g \ = | l =
261"2(2)- q-fz X=2 frggo E__.-_e a()fS'

d. Find the vertex.
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?_.- : f. Does th h hav L
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¥-1to+Ye. Find the y— intercept. mf” @ L—"
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g Graph the function, Jabeling the y-int ke
p n, g the y-intercept, vertex, an§ -‘a_ngfsy_m_metry. o

2. Consider the function f(x) = —-’-(x —1)%2+3

a. Stale the transformanons

Rox, Comp(2), Rignr |, Up 3

b. Find the vertex.

(,3)

C. Doesthcparabolaopenupordown?.fustifj'. down O\:"Iz < O

d. State the domain and range of the function in interval notation.

D TR Q:ldz.’g)

. 3. Write a quadratic equation in standarg Jform given the roots: ~3,2

Y= (x+3xx2) | Y=xx-o, %G|

Y 27 v+ 3%-(n
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Factor the following completely. | . ;
4, X -x=12= ozt +18xy+ 81y? = 6.9x3 +36x2 —4x—16 =

(X-UXx+3) (x+°r Yt Px*(xat) - H (x+u1)
7.162 —z = 8. 6y +17 +10= \ﬂ%{r 9. f 64 = (qX Ll)(K“-‘

- 4 ‘? +L0,
2 (lo2™1) —k(‘-lz ‘YL}Z*‘)] '1%;(:5) BN

Solve the follnwmg by factoring and zero product property. Box all aﬂéivers.

10. y'-49= - 1. Y =12y +36=0 12. X ~16x= 36..0" o

PRy Gl (ko
Y=4-F =0 XN X= -2
13. 4x* +10x* -24x =0 t 25:2”-144 =0 15. 12y ~19y +5=0

X@EX*H#Tx-12)=0 Bz-12Y52+12) Y=Ay+uo= O

(X% T%-24)=0 RIS EREE )/
s | _ R AS Y u-4)=0 "
16. 26* +16¢ =0 &Y(X,&Q&_g (\é _Tinj Q %
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A (EraYt=ac+u) |
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